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Quithwpwdhi 1:
Qudwu wnwplw b hwunhuwund' gbdbum :

<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
Quwyhtu wnwewpyp
1 ;;EE‘:"I*J':E “X” qbpwquugnud £ quiw
hwjinny uwhdwujwé ghup
2 <<quJu>> une “X”
Quwyhtu wnwewpyp
3 «':l'l:'f]hnp“» “X” qbpwquugnud £ quiw
hwjwnny uwhdwuyjwé ghup
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutiwygh /punnyws Vwutwlygh wnwowpyws
qpuntgpué qht
inbink witiduitinuip Hwutlgh 1 i UCE, huig, npuw/
nepp hwdwp ok g » hwq. np
HXH/
1 <<Gud4u>> une “X” 96,00
<<kpuwypbu Thu>>
umpe 116,50
<<Eyndhpu>> UNC 116,66

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu guwyht wnwowply ubipjujugpws Jwuuwyhg:




Quithwpwdht 2:

Yudwu wnwplw § hwunhuwunw ubkipy' jwnbpuwh '

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 <<kpuypbu wy
Chu>> UMNe
<<Lwpqup>> wy
2 une X
3 <<qU4Us>> Ume “X”
<<kyndppu>> v
4 une X
5 <<E$Pblun wx
Spnuy>> PPL
Cunpjwéd
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punnywd Uwutwlygh wnwowpyws
qpunbtgpué qhu
nbnk wujwunwdip dwutwlygh Jwnuwibia USZ. h Y
nepp hwdwp ok wnwug » hwq. npw
“X?)/
<<E$PLYwn Gpniwy>> -
1 DRL X 53,75
2 <<Lwpqup>> UNC 54,57
3 <<klyndhpu>> UNLC 73,38
4 <<qud4u>> une 88,80
<<kpuwypbtu Thu>>
5 ume 89,26

Cunpywd Jwutuwlght npnbint hwdwp Yppwndwd swihwupy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu 3:

Yudwu wnwplw § hwunhuwund' ubpYy-kdwy, gnyup’ uyhwnwy:

<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 <<kEpuwpbu wy
Chu>> UMNe
<<Lwpqup>> wyn
2 une X
<<kyndppu>> .
3 une X




Lunpjwé
dwutwyhg
Uwul'(:lwll:hg:‘llph Uwutiwygh /punnywd Uwutiwygh It::ﬁnwgwnqwé
bt lidutinuip Swdbwioh | ) UCE, huq, npud/
ntepp hwidwn ok g » hwq. np
“x”/
1 <<Lwpqup>> UNC “X” 68,62
<<kEpuypbtu Chu>>
2 umne 76,37
3 <<Eyndhpu>> UNC 79,50

Cunpywd Jwutwlght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpYyuywgpwé Jwutwyhgubipph pyYhg' tuqugnyu qguwyht wnwowpl ubipjujwgpws Jwutwyhg:

Quithwpwdhu 4:
Qudwu wnwplw £ hwunhuwund' dwupwhwwnwl:
<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 <<kpuypbu wx”
Chu>> UMNe
<<Lwpqup>> wy»
2 une X
3 <<qudu>> Une “X”
Guwjhtu wnwowpyp
4 «tl'l;‘,‘f]';f“» “x” qbpwquugnud £ qudwt
hwjwnny uwhdwujwé ghup
Cunpwéd
dwutwyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh wnwowpywéd
qpunbgpué qhu
inbnk witiduitinuip Hwublgh 1 i UCE, huig, npuwd/
nepp hwdwp gk 9 » hwq. np
uxn/
1 <<Gud4u>> Uune “X” 368,25
<<Epuypbtu CThu>>
2 ume 389,12
3 <<Lwpqup>> UMNC 401,25
<<kYndppu>> UMNLC 531,87

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwyhgubiph pyYhg' uuqugnyu qguwyht wnwowply ubipjujugpws Jwutuwyhg:




Quithwpwdht 5:

Yudwu wnwplw § hwunhuwund® AUM, 366x183ud swihtpny 1804 hwuwnnipjwip:

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 ;;EEZU:’I:E X gbpwquugnud | qudwt
hwjwnny uwhdwuywé ghup:
Lwjinwpwnyb k sywjwgud
Quthwpwdhu N: 6
Qudwu wnwplw & hwunhuwund' A4M 3, 170x210ud swihbpny 3.500 hwuwnnigjwdp :
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 <<kpuypbu o
Chu>> UNL
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punnywd Uwutwlygh wnwowpyws
qpunbgpué qht
inbink wliuitinuip Huutlgh g UCE, huig. npuwd/
ntepp hwdwp tgh 9 » hwq. np
Hx"/
<<kpuwypbtu Thu>> -
1 ume X 22,91

Cunpdwd dwutwlght npnobint hwdwp Yhpwndwsd swihwup?' pwdwpup quuwhwndwéd hwynbp
ubpYyuywgpwé Jwutwlyhgubph pyhg' ujuqugnyu quwht wnwowpy ubpYuwywgpwsé dwutiwlhg:

Quthwpwdht 7:

Qudwu wnwplw b hwunhuwund' ypn$uwuwnhyg:

<puwybph <pwybph
Uwutiwygh wwhwugubtphtu wwhwugubkphtu
wiutiuiig hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
Quwyhu wnwewpyp
1 ;;EEZ“L'I'}::E qbpwqugnud £ qudwh
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
2 «1":‘]',',?[;""» qbpwqugntd £ qudwh
hwjwnny uwhdwujwé ghup
Lwjinwpwnyb k£ sywjugud

4




Qwithwpwdhu N: 8

Qudwu wnwplw § hwunhuwund' wpdniulubip:

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 <<kpuypbu x”
Chu>> UNL
<<Lwpqup>> wyn
2 une X
Quwyhtu wnwowpyp
3 <<qu4yu>> une “X” qbpwquugnud k qudw
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<tl|l;l,ﬂ;:2u>> “X” qbipwquugnud k qudwt
hwjwnny uwhdwuyjwé ghup
Cunpjwéd
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpunbtgpué qhu
nbnb wujwunwdip dwutwygh Jwnwiia USZ. h Y
nepp hwdwp gk wnwug » hwq. npw
“X”/
1 <<Lwpqup>> UNLC “X” 3,00
<<kpuwypbtu Thu>>
2 umne 6,78
<<kyndppu>> UNLC 9,48
<<qU4u->> une 9,90

Cunpywd Jwutuwlght npnbint hwdwp Yppwndwsd swihwuhy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu N: 9

Qudwu wnwplw § hwunhuwund' Ynyninne junnnjuljubp :

<pwybiph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwywwmwufluwunn | shwdwywwnwupuwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;;EEZT"::E “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> wyn
2 une X
3 <<qu4U>> UMne “X”
Quwjhu wnwowpyp
4 <<tul;‘:f]t;:pu>> “X” qbipwquugnud £ qudwt
hwjinny uwhdwujwé ghup
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Cunpjws
dwutwyhg
Uwutwlyhgub Uwutiw wnwowplwé
quqll:ggwénh Uwutiwygh /punpyuid llg':}hb guiny
wnbintpp wijuitinudp Uwutugh /wnwug UKL, hwq. npud/
hwdwp ugk) ’ ’
“X”/
<<Lwpqup>> UNLC “X” 13,00
2 <<3ud4u>> umne 14,80
<<Eyndhpu>> UNC 19,93
<<Epuypbtu Thu>>
ume 20,56

Cunpywd Jwutwlght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpyuywgpwé dwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu N: 10
Qudwu wnwplw b hwunhuwund' Ynynigne funnndulutip :

<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 <<kpuypbu wx
Chu>> UNL
<<Lwpqup>> wy
2 une X
3 <<qUd4Us> Ume “X”
<<kYyndppu>> -
4 unc X
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutiwygh /punnyws Vwutwlygh wnwowpyws
qpuntgpué qht
inbnk witiduitinuip Hwubwlgh 1 i UCE, huig, npuwd/
nupp hwdwn ot 9 » hwq. np
“x"/
1 <<Luwpqup>> UNLC “X” 6,00
2 <<Gud4u>> une 7,70
3 <<Eyndhpu>> UNC 8,26
<<kpuwypbu Thu>>
4 ume 9,65

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu guwyht wnwowply ubipjujugpws Jwutwyhg:




Quithwpwdhu N: 11

Qudwu wnwplyw  hwunhuwund' gph b gngnpnt funnndulyubip:

<pwybipp <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwwnwufuwubin
nGwpnid ugk “X”/ nGwpnid uok “X”/
Quwyhtu wnwowpyp
1 ;<Epu%r:'l:z “X” gbpwquugnud | qudwt
hu>> hwjwnny uwhdwujwé ghup
<<Lwpqup>> -
2 une X
Quwyhtu wnwowpyp
3 <<qudJu->> une “X” gbpwquugnud | qudwt
hwjunny uwhdwujwé ghup
Quwjhu wnwowpyp
4 «tl'l;‘,‘f]';f“» “x” qbpwquugnud £ qudwl
hwjwnny uwhdwuyjwé ghup
Cunpjwéd
dwutwyhg
Uwutiwyhgubph Uwutiwygh /punnyws Uwutwlygh wnwowplyws
qpunbtgpué qhu
wnbink witiuinudp Hwubuligh |/ g UGS, huig. npuis/
ntupp hwdwp b g » hwq. np
“x"/
1 <<bLwpquwp>> UMNe “X” 19,00

Cunpywd Jwutuwlght npnbint hwdwp Yppwndwsd swihwuhy' pwdwpwp quuhwndws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjujuwgpws Jwutuwyhg:

Quithwpwdhu N: 12

Yudwu wnwplw £ hwunhuwunud' oph b gnpnpant funnnjuyubp:

<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud ok “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 ;;EEUT"::E “X” gbpwquugnud | qudwt
> hwjwnny uwhdwujwé ghup
<<Lwpqup>> wyn
2 une X
Quwjhu wnwowpyp
3 <<qUd4u>> umne “X” qbpwquugnid £ gudw
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<tuljlit;:2u>> “X” qbipwquugnud £ qudwt
hwjwnny uwhdwujwé ghup




Lunpjwé
dwutwyhg
Uz:lt:llggg:‘llph Uwutiwygh /punnywd Uwuhwhg[;;:xunwgwnqwé
wnbtintpp wijuitinudp Jwutuwgh /wnwug UKL, hwq. npud/
hwdwp ugh)
“x/
1 <<Lwpqup>> UMNEC “X” 8,32

Cunpywd Jwutwlght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpYyuywgpwé Jwutwyhgubipph pyYhg' tuqugnyu qguwyht wnwowpl ubipjujwgpws Jwutwyhg:

Quthwpwdhu N: 13

Yudwu wnwplw £ hwunhuwunud® gph b gnnpant funnnquljubip:

<puwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh hwdw u
wwwwufuwuny | shwdwwywwwupwunn | Luhwdwwywunwufuwunipyut
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;;EEZT}::E “X” qbipwquugnud k qudwt
hwyinny uwhdwujwé ghup
<<Lwpqup>> v
2 unc X
Quwjhu wnwowpyp
3 <<qu4Jus> une “X” qbpwquugnud k qudwt
hwjwnny uwhdwuyjwé ghup
Quwjhu wnwowpyp
4 <<tl|l;l,ﬂ;:2u>> “X” qbipwquugnud k qudwt
hwjwnny uwhdwujwé ghup
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpwnbgpws qht
nbink wiuitinudp Jwubwloh | g UCE, b o/
nspp hwdwp gk wnuwug » wq. npw
uxn/
1 <<Lwpgqup>> UMNLC “X” 18,50

Cunpywd Jwutwlght npnbint hwdwp Yppwndwsd swihwupy' pwdwpwp quuhwnyjws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubipyuyugpws Jwuuwyhg:

Quthwpwdhu N: 14

Qudwu wnwplw & hwunhuwunud® funpnulyubph dhwgunn Ygnpnhs :

Uwutwlygh

</< wuywunidp

hwiwwywwwufuwinn

/hwdwwwwnwufuwubnt

<pwytiph
wwhwugubphu

hwjwnbp

nbwpnud ugb “X”/

<pwybph
wwhwugubkphu
shwlwwywwnwuluwunn
hwjwnbp
/shwdwwwwnwufuwubnt
nbwpnud uob| “X”/

Uuhwiwwywwmwuluwunipjwu
hwdwnnun ujwpwgpnypnLu




Quwjhtu wnwowpyp

1 ;;EEZ‘T,’::E “x” qbpwquugnid £ quiwl
hwjwnny uwhdwujwé ghup
Quwyhtu wnwowpyp
2 <<Ll:jl:r?cwp>> “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
Quwyhtu wnwowpyp
3 <<qudJu->> une “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<tllJ :If]IEEU>> “X” gbpwquugnud | qudwt
hwjunny uwhdwujwé ghup
Lwjinwpwnyb k sywjwgud
Quthwpwdhu N: 15
thwpwdh
Yudwu wnwplw b hwunhuwund' junpnuljubiph shwgunn Ygnpnhs :
<pwybph <pwybiph
wwhwugubtphu wwhwugubkphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;;EE‘:TJ'}I‘:E “x” qbpwquugnud £ qudwl
hwjwnny uwhdwuyjwé ghup
<<Lwpqup>> wy»
2 une X
Quwyhtu wnwowpyp
3 <<qUd4u>> umne “X” qbpwquugnid k gudw
hwjwnny uwhdwuyjwé ghup
Quwyhtu wnwewpyp
4 «':l'l:'f]hnp“» “x” qbpwqugnud £ qudwl
hwjwnny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutiwygh /punnyws Vwutwlygh wnwowpyws
qpuntgpué qht
inbnk witiduitinuip Hwublgh 1 i UCE, huig, npuw/
nepp hwdwp ok 9 » hwq. np
“x"/
1 <<Lwpqup>> UMNC “X” 0,45

Cunpywd Jwutwlght npnbint hwdwp Yppwndwsd swihwupy' pwdwpwp quuhwnyjws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubipyuyugpws Jwuuwyhg:

Quthwpwdhu N: 16

Qudwu wnwplw & hwunhuwunud® funpnulyubph dhwgunn Ygnpnhs :

</€

Uwutwygh
wujwunwdip

<pwytiph
wwhwugubtphtu

hwiwwywwwufuwinn

hwjwnbp

/hwdwwwwnwufuwubnt

nbwpnud gk “X”/

<pwybph
wwhwugubkphtu
shwlwwywwnwuluwunn
hwjwnbp
/shwdwwwunwufuwubnt
nbwpnud uok “X”/

Uuhwilwwywunwuluwunyejwu
hwdwnnun ufuwpugpnypniu




Quwjhtu wnwowpyp

1 ;;EEZ‘T,’::E “x” qbpwquugnid £ quiwl
hwjwnny uwhdwujwé ghup
9 <<1Jul;["lr?.euln>> “y”
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjwnny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<tllJit::2u>> “X” qbpwquugnud k qudw
hwjwnny uwhdwujwé ghup
Cunpjws
dwutiwlyhg
Uz:lt:lﬁll:gg:‘l;ph Uwutiwygh /punnywd Uwubwhg[;;:]unwgwpuwb
nbnbpp wijuitinudp Jwubwlgh | ) ivg UCE, huwq. ppud/
hwdwp gk ’ ’
uxn/
1 <<bLwpquwp>> UMNe “X” 0,65

Cunpjwd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnyjws hwynbp
ubpYyuywgpwé Jwutwlyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubpjuyjwgpws Jwuuwyhg:

Quithwpwdhu N: 17

Qudwu wnwplyw £ hwunhuwund' junpnjuyubph dhwgunn Ygnpnhs :

<puwybph <pwybph
Uwutwlgh wwhwugubphu wwhwugubpht
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uoky “X”/ nbwpnud uoky “X”/
Quwyhtu wnwewpyp
1 ;;EEZUS:E “X” qbpwquugnid L qudwt
hwjinny uwhdwujwé ghup
Quwyhtu wnwow
2 <<blﬁﬂ$‘;’ n>> “X” thwtili:mgmd ﬁ ngﬁm
hwjinny uwhdwujwé ghup
Quwyhtu wnwewpyp
3 <<qUd4u>> umne “X” qbpwquugnid k gudw
hwjinny uwhdwujwé ghup
Quwjht wnwow
4 <<tl|l;1 'lrf][EEU>> “X” thwtili:mgmd ﬁ qztliﬁm
hwjwnny uwhdwujwé ghup
Lwjnwpwnyby k sywjugud
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Qwithwpwdhu N: 18

Qudwu wnwplw § hwunhuwund' junpndulyubiph Shwgunn Ygnpnhs :

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 ;;EEZ“S*E “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> v
2 une X
Quwyhtu wnwowipyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<|:L|l:|f][::pu>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutwlygh wnwowpyws
qpuntgpwé qht
inbink whiutinuip Hutilgh i UCK, huig, npuwd/
ntupp hwdwp ok 9 » hwq. np
“x"/
1 <<bLwpquwp>> UMNe “X” 0,45

Cunpywd Jwutwlght npnbint hwdwp Yppwndwsd swihwupy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu N: 19

Qudwu wnwplw £ hwunhuwund' junpnjuyubph dhwgunn Ygnpnhs :

<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud ok “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 ;;EEZT’T:E “X” gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup
<<Lwpqup>> wyn
2 une X
Quwjhu wnwowpyp
3 <<qu4Ju-> une “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<tuljlit;:2u>> “X” qbipwquugnud £ qudwt
hwjwnny uwhdwujwé ghup
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Lunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowpywéd
qpwnbgpwé qht
inbink lidutinuip Huiutwligh /) o g UCE, husgq. npud/
ntepp hwdwp toh g » hwq. np
“x”/
1 <<Lwpqup>> UNLC “X” 0,55
<<Eyndhpu>> UNC 0,66
<<qu4u>> unpe 0,83
<<Epuypbtu Thu>>
ume 1,48

Cunpywd Jwutwlght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpYyuywgpwé Jwutwyhgubipph pyYhg' tuqugnyu qguwyht wnwowpl ubipjujwgpws Jwutwyhg:

Quithwpwdhu N: 20
Yudwu wnwplw b hwunhuwund' junpnuljutiph shwgunn Ygnpnhs :

<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;<EBUTJI::E “X” qbipwquugnud k qudwt
hu>> hwjwnny uwhdwuyjwé ghup
<<Lwpqup>> wy»
2 unc X
Quwjhu wnwowpyp
3 <<qUd4u>> umne “X” qbpwquugnid k gudw
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 «':l'l;',‘f]';f“» “x” qbpwqugnud £ qudwh
hwjwnny uwhdwujwé ghup
Cunpwéd
dwutwyhg
U wutiwyhgubph Uwutiwygh /punnyws Vwutwlygh wnwowpyws
qpunbgpué qhu
inbnk witiduitinuip Hwubwlgh i UCE, huig, npuw/
nspp hwdwp ok 9 » hwq. np
“XY)/
1 <<Lwpgqup>> UMNLC “X” 0,65

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYuywgpwé Jwuttwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjuywgpws Jwuuwyhg:
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Quithwpwdhu N: 21
Qudwu wnwplw § hwunhuwund' junpndulyubiph Shwgunn Ygnpnhs :

<puwybph <pwybph
Uwub wwhwugubphu wwhwugubkphu
wutwlgh hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 ;<EEUULI’I:E “X” gbpwquugnud | qudwt
hu>> hwjwnny uwhdwujwé ghup
<<Lwpqup>> wyn
2 unc X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<|:L|l:|f][::pu>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
UwutwYyhgubphp Uwutiwlgh Cunpjwéd Jwuuwlhg Uwutwlgh wnwowpywé
qpwnbgpwé whuwinusp /puinpjwd dwutwygh qht
wmbnbtpp hwdwp ugb) “X”/ /wnwiug UKL, hwq. npud/
1 «I"fj',‘,?é”"» “x” 0,75

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnjws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu N: 22

Qudwu wnwplw § hwunhuwund' junpnjulyubph dhwgunn Ygnpnhs :

<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 ;<52l:“llll"':g “X” qbipwquugnud k qudwt
hu> hwywnny uwhdwuws ghp
Quwyhtu wnwowpyh wpdbp
2 <<LTJI,‘T‘:‘EUF>> “X” gnuiwpwé UUL hwjwuwp sk
pnhwunip qupt
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” gbpwquugnud | qudwt
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 «':l‘l;‘,'f]f::p“» “x” qbpwquugnud £ quiwl
hwjinny uwhdwujwé ghup

Lwjnwpwnyby k sywjugud
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Quithwpwdhu N: 23

Qudwu wnwplw § hwunhuwund' junpndulyubiph Shwgunn Ygnpnhs :

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 ;;EEZU:’I:E “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> v
2 une X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<|:L|l:|f][::pu>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutwlygh wnwowpyws
qpuntgpwé qht
inbink whiutinuip Hutilgh i UCK, huig, npuwd/
ntupp hwdwp ok 9 » hwq. np
“x"/
1 <<bLwpquwp>> UMNe “X” 1,32

Cunpdwd dwutwlght npnobint hwdwp Yhpwndwsd swihwup?' pwdwpup quuwhwndwéd hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjujuwgpws Jwutuwyhg:

Quthwpwdhu N: 24

Qudwu wnwplw b hwunhuwund' junpnjuluyht wypwpubp :

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
Quwyhtu wnwowpyp
1 «'"'"I‘J";T‘]"é’*h"» “x” qbpwquugnud £ quiwl
hwjinny uwhdwujwé ghup
<<Lwpqup>> “wy»
2 une X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<tul;‘,lrj]t::pu>> “X” qbipwquugnud £ qudwt
hwjinny uwhdwujwé ghup
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Lunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowpywéd
qpwnbgpwé qht
inbink witiuitinuip dwubwlgh g UCE, huig, npuwd/
ntepp hwidwn ok g » hwq. np
“x”/
1 <<Lwpqup>> UMNEC “X” 3,85
<<3ud4u>> umne 7,26
<<EYyndhpu>> UNC 9,09
<<Mpnjuwynbkp>>
umpe 14,91

Cunpywd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwlyhgubpp pyYhg' ujuqugnyu qguwyht wnwowply ubpjuyjwgpws Jwutuwyhg:

Quthwpwdhu N: 25
Yudwu wnwplw b hwunhuwund' uwhlubip (Qhutwpwpnipyui):

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwufuwunn | shwdwywwnwupuwung | Luhwdwwywunwujuwuniejwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 <<|:puu|phu “y”
Chu>> UNe
<<Lwpqup>> wy
2 une X
3 <<qudJu->> une “X”
Quwyhtu wnwewpyp
4 «':l'l:'f]hnp“» “x” qbpwqugnud £ qudwl
hwjwnny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutiwygh /punpyws Vwutwlygh wnwowpyws
qpuntgpué qht
inbnk witiduitinuip Hwubwlgh 1 i UCE, huig, npuwd/
nepp hwdwp ok 9 » hwq. np
“x"/
1 <<qud4u>> une 162,00
<<Epuyptu CThu>>
2 umpe 166,37
3 <<Lwpqup>> UNLC 183,75
<<kyndppu>> UMNLC 245,66

Cunpwsd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnyjws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu guwyht wnwowply ubipjujugpws Jwuuwyhg:
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Quithwpwdhu N: 26

Qudwu wnwplw & hwunhuwund' pppkp (hGwpwpnipjwa):

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 <<kpuypbu x”
Chu>> UNe
<<Lwpqup>> wy
2 une X
3 <<qudJu->> une “X”
<<kyndppu>> v
4 une X
Cunpjwéd
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punnyws Uwutwlygh wnwowpywéd
qpunbtgpué qhu
wnbink witiuinudp Hwubuligh |/ g UGS, huig. npuis/
ntupp hwdwp gk g » hwq. np
“x"/
1 <<Luwpqup>> UNLC “X” 13,50
<<Epuypbtu Thu>>
2 umpe 16,87
3 <<qUu4uU->> unpe 19,50
4 <<kyndppu>> UMNLC 30,75

Cunpdwd dwutwlght npnobint hwdwp Yhpwndwsd swihwup?' pwdwpup quuwhwndwéd hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjujuwgpws Jwutuwyhg:

Quithwpwdhi N: 27

Qudwu wnwplw b hwunhuwund' Gphqubip / ghtwpwpuwlywi/:

<pwybiph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwundp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uob “X”/
Quwyhtu wnwowpyp
1 ;;EE‘:“L'I'}:E “x” qbpwquugnud £ quiwl
hwjinny uwhdwujwé ghup
<<Lwpqup>> wy
2 une X
3 <<qUd4Us>> Ume “X”
Quwjhu wnwowpyp
4 <<tl|l;1 ,f]t;:pu>> “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
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Lunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowpywéd
qpwnbgpwé qht
inbink lidutinuip Hutwligh 1/ o g UCE, huq. npud/
ntepp hwdwpn toh g » hwq. np
“x”/
1 <<Lwpgquwp>> UMNe “X” 25,50
2 <<3ud4u>> umne 26,00
<<tpuul|J[:ll:E Chu>> 30,75
<<Eyndhpu>> UNC 37,00

Cunpywd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwlyhgubpp pyYhg' uuqugnyu qguwyht wnwowply ubpjuywgpws Jwuuwyhg:

Quthwpwdhu N: 28
Qudwu wnwplw £ hwunhuwund' Ephqubip / ghtwpwpuwywi/:

<pwybph <puwybph
wwhwugubphu wwhwugubphu
Uwutwlygh hwdw
wwwwufuwunn | shwdwywunwuluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
Quwyhtu wnwowpyp
1 ;;EE‘:“L‘":E “x” qbpwquugnud £ quiwl
hwjunny uwhdwujwé ghup
<<1anq.wn>> “wy
2 une X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbipwquugnud k qudwt
hwjinny uwhdwujwé ghup
Quwyhtu wnwewpyp
4 <<tqu]tEpu>> “X” qbipwquugnud k qudwt
hwjinny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutilgh /punnywd Uwutwlygh wnwowpyws
qpuntgpué qht
bnb wujwunwip dwutwygh Jwnwia USZ. h §/
wnGntpp hwdwp ok wnwug » hwq. npw
l(x”/
1 <<Lwpqup>> UMNC “X” 16,20
<<kYndppu>> UMNLC 18,00
<<qud4u>> Une 46,80
<<Epuyptu CThu>>
ume 55,12

Cunpywd Jwutwlght npnbint hwdwp Yppwndwd swihwupy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé dwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubipyjuyugpws Jwuuwyhg:
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Quithwpwdhu N: 29

Qudwu wnwplw £ hwunhuwund' Ephqubip / ghtwpwpuwywi/:

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwwywwnwuuwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
Quwyhtu wnwowpyp
1 ;<EEUT’|:E “X” qbpwquugnud k qudw
hu>> hwjwnny uwhdwujwé ghup
<<Lwpqup>> v
2 une X
Lunpjwéd
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpunbtgpué qhu
nbnb wujwunwdip dwutwlygh Jwnwiia USZ. h Y
nepp hwdwp gk wnwug » hwq. npw
“X?)/
1 <<Lwpquwp>> UNLC “X” 19,04
<<kpuwypbtu Thu>> 161,28

une

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnjws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pYhg' ujuqugnyu qguwyht wnwowply ubpjuyjuwgpws Jwuuwyhg:

Quithwpwdhu N: 30

Qudwu wnwplw £ hwunhuwund' phqubp / Jhutwpwpuywi/:

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwuuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uoby “X”/
Quwyhtu wnwowpyp
1 ;;EEZT{::E “X” gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup
<<Lwpqup>> “wy»
2 une X
Quwjhu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud L qudw
hwjinny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<|-'~lll;‘ ,f]t;:pu>> “X” gbpwquugnud | qudwt

hwjinny uwhdwujwé ghup
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Lunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowpywéd
qpwnbgpwé qht
inbink lidutinuip Huutwligh /) o g UCE, hugq. npud/
ntepp hwdwp toh g » hwq. np
Ux”/
1 <<Lwpqup>> UNLC “X” 19,80
<<qu4u>> unpe 29,50
<<Eyndhpu>> UNC 49,66
<<tpuu6[::z Chu>> 56,50

Cunpywd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' ujuqugnyu qguwyht wnwowply ubkipjujugpwsd Jwutwyhg:

Quithwpwdhu N: 31
Qudwu wnwplw § hwunhuwund' wy; quwuwquu 2htwpwpwlui uynyebp :

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;;EEZT}::E “X” qbipwquugnud k qudwt
hwyinny uwhdwujwé ghup
<<Lwpqup>> v
2 unc X
Quwjhu wnwowpyp
3 <<qu4Ju-> une “X” qbipwquugnud k qudwt
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<tl‘|l;‘,f]t;:pu>> “X” qbipwquugnud k qudwt
hwyjunny uwhdwujwé ghup
5 <<t$$hllm “x”
Qpnuy>> PPL
Cunpwéd
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnuws Uwutiwlygh wnwowpywéd
qpwnbgpwé qhu
nbink wiuitinudp Jwubwleh | ) g UCE, b o/
nspp hwdwp ok wnuwug » wq. npw
“XY)/
1 <<Lwpgquwp>> UNLC “X” 19,80
<<k$PbtYwn Gpniy>>
2 oRp 20,00
<<kyndppu>> UMNLC 24,00
<<kpuwypbu Thu>>
umpe 27,00

Cunpywd Jwutwlght npnbint hwdwp Yppwndwd swihwupy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé dwutwyhgubph pyhg' ujuqugnyu quwihtt wnwowpy ubipyjuyugpws Jwuuwyhg:
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Quithwpwdhu N: 32

Qudwu wnwplw § hwunhuwund' dwintjuwyhts ninpubp :

nbwpnud gk “X”/

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt

nbwpnud gk “X”/

1 <<Mpnjuwynbtp>>
une

“X"

Quwyhtu wnwowpyp

gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> wyn
2 une X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<|:L|l:|f][::pu>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutwlygh wnwowpyws
qpunbtgpws qht
inbink whiutinuip Hutilgh i UCK, huig, npuwd/
nspp hwdwp ok 9 » hwq. np
“x"/
1 <<Luwpqup>> UNLC “X” 8,10
<<qud4u>> une 11,34
<<kyndppu>> UNLC 11,88
<<Mpnuynbip>>
ume 28,80

Cunpywsd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnyjws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjujuwgpws Jwutuwyhg:

Quithwpwdhu N: 33

Qudwu wnwplw § hwunhuwund' dwinitjuwyhu ninpubp :

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwygh hwiw
wwwwufuwuny | shwdwwywwwupwunn | Luhwdiwwywunwufuwunipywu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt

nbwpnud uok “X”/

nbwpnud uob “X”/

1 <<Mpnjwynbtp>>
une

“XY’

Quwyhtu wnwowpyp

gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup
<<Lwpqup>> v
2 une X
Quwjhu wnwowpyp
3 <<Gudu>> une “X” qbipwquugnud £ qudwt
hwjunny uwhdwujwé ghup
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Quwjhtu wnwowpyp
4 «':L'l'j‘f]';f“» “x” qbpwquugnid £ quiw
hwjwnny uwhdwujwé ghup
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Vwutwlygh wnwowpyws
qpwnbgpwé qht
inbink lidutinuip Huiutwligh 1 /) o g UCE, hugq. npud/
ntepp hwidwn ok g » hwq. np
“X”/
1 <<Lwpqup>> UMNC “X” 9,00
<<Eyndhpu>> UNC 11,60
<<qud4u>> une 12,45
<<’nprlijll;:]ug}hp>> 36,00

Cunpywd Jwutwlght npnbint hwdwp Yppwndwsd swihwuhy' pwdwpuwp quuhwndws hwynbp
ubpyuywgpwé dwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quthwpwdhu N: 34

Yudwu wnwplw b hwunhuwund' ypn$hjubip :

<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;;EE‘:“J}:E “x” qbpwqugnud £ qudwh
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
2 «1":‘1','.;‘[;”"» “x” qbpwqugnud £ qudwh
hwjwnny uwhdwujwé ghup
Lwjinwpwnyb £ sywjwgud
Quithwpwdhu N: 35
Yudwu wnwplyw § hwunhuwund' ypndhpubp :
<pwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutiwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 ;;EEZT"::E “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
2 <<Ll:j':r?£un>> “X” gbpwquugnud | qudwt
hwjunny uwhdwujwé ghup
Lwjnwpwnyb k£ sywjwgud
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Quithwpwdhu N: 36
Qudwu wnwplw § hwunhuwund' ypndhiubp :

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 ;<EEUULI’I$E “X” gbpwquugnud | qudwt
hu>> hwjwnny uwhdwujwé ghup
Quwyhtu wnwowpyp
2 <<LTJ[."?ELUF>> “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
Lwjinwpwnyb k sywjwgud
Quthwpwdhu N: 37
Yudwu wnwplw b hwunhuwund' ypn$hjubip :
<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunmwuluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
Quwyhtu wnwowpyp
1 ;<EB““L‘I'},‘]‘E “x” qbpwqugnud £ qudwh
hu>> hwjunny uwhdwujwé ghup
Lwjinwpwnyb k£ sywjwgud
Quithwpwdhu N: 38
Qudwu wnwplw £ hwunhuwund' Yusniu dwwwybuubp :
<pwybph <pwybiph
wwhwugubtphu wwhwugubkphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwibn
nbwpnud gk “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 <<r"'"l'1";:]“é"""» “x” qbpwquugnud £ qudwh
hwjwnny uwhdwujwé ghup
<<Lwpqup>> wyn
2 une X
Quwyhtu wnwowpyp
3 <<qUd4u>> umne “X” qbpwquugnid £ gudw
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 «':L'l;‘,‘f]';f“» “x” qbpwquugnud £ qudwh

hwjwnny uwhdwujwé ghup
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Lunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowpywéd
qpwnbgpwé qht
inbink lidutinuip dwubwlgh g UCE, huig, npuwd/
ntepp hwidwn ok g » hwq. np
“x”/
1 <<Lwpqup>> UMNEC “X” 4,50
<<3ud4u>> umne 5,40
<<EYyndhpu>> UNC 7,46
<<Mpnjuwynbkp>>
umne 8,88

Cunpywd Jwutwlght npnobint hwdwp Yppwndwd swihwuhy' pwjwpwp quuhwnyws hwynbp
ubpYyuywgpwé Jwutwlyhgubpp pyYhg' ujuqugnyu qguwyht wnwowply ubpjuyjwgpws Jwutuwyhg:

Quthwpwdhu N: 39

Qudwu wnwplw § hwunhuwund' JhGwpwpnipywl Uk oqunwgnpéynn quilwaqul wy, wwpwapabp :

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
Quwyhtu wnwowpyp
1 ;;EE‘:“L‘":E “x” qbpwquugnud £ quiwl
hwjunny uwhdwujwé ghup
<<1anq.wn>> “wy
2 une X
Quuwyht wnwowpynid ufuwy
3 <<qu4Ju-> une “X” L qpyb| wypwuph
wuyjwuntdp
<<kyndppu>> .
4 une X
5 | <<EPpblw o
Qpnuy>> PPL
Cunpwéd
dwutwyhg
Uwutiwyhgubph Uwutiwygh /punnyws Vwutwlygh wnwowpyws
qpuntigpwé ghu
inbink tidutinudp Huiutwligh /) o g UCE, husgq. npud/
nepp hwdwp ok g » hwq. np
“XY)/
<<E$PLYwn Gpniwy>> wy
1 DRL X 11,25
2 <<Lwpqup>> UMNC 1,87
3 <<Eyndhpu>> UNC 16,66
<<I:puul|jrlll]ig Chu>> 19.75

Cunpywd Jwutwlght npnbint hwdwp Yppwndwd swihwupy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé dwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubipyjuywgpws Jwuuwyhg:
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Quithwpwdhu N: 40

Yudwu wnwplw £ hwunhuwun' hnupnne :

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 <<mmlljl£:gth>> “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> wyn
2 unc X
3 <<qudu>> Une “X”
Quwyhtu wnwowpyp
4 <<tllJf]t::2u>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpuntgpwé qht
inbink whiutinuip Hwubilgh 1 it UCE, huig, npud/
nepp hwdwi tob 9 » hwq. np
“x"/
1 <<qUud4u>> Une “X” 1,48
2 <<Lwpqup>> UNLC 5,50
<<kEYyndppu>> UNLC 10,66
<<Mpnuynbip>>
umne 20,00

Cunpywsd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnyjws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjujuwgpws Jwutuwyhg:

Quithwpwdhu N: 41

Yudwu wnwplw £ hwunhuwund* hnueninp :

<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uob “X”/
Quwyhtu wnwowpyp
1 «'"'"I‘J";T‘]"é’*h"» “x” qbpwquugnud £ quiwl
hwjinny uwhdwujwé ghup
<<Lwpqup>> “wy»
2 une X
3 <<quJu>> une “X”
Quwyhtu wnwowpyp
4 <<tul;‘,lrj]t::pu>> “X” qbipwquugnud £ qudwt

hwjinny uwhdwujwé ghup
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Lunpjwé

dwutwyhg

Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowpywéd

qpwnbgpwé qht
inbink lidutinuip Huiutwligh /) o g UCE, husgq. npud/

ntepp hwdwp toh g » hwq. np
Ux”/

1 <<Gudu>> une “X” 0,74

2 <<Lwpgquwp>> UMNe 2,75

<<Eyndhpu>> UNC 5,33

<<Mpnuynbp>>
umpe 10,00

Cunpywd Jwutwlhght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpYyuywgpwé Jwutwyhgubipph pyYhg' tuqugnyu qguwyht wnwowpl ubipjujwgpws Jwutwyhg:

Quithwpwdhu N: 42

Yudwu wnwplw § hwunhuwund” ywnwpnipuywynp wanpwglnn nGunwyGbn :

<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 <<mp?ﬂ::éqbn>> “X” qbipwquugnud k qudwt
hwyinny uwhdwujwé ghup
<<Lwpqup>> wy
2 unc X
Quwjhu wnwowpyp
3 <<qu4Ju-> une “X” qbipwquugnud k qudwt
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<tl|l;l,ﬂ;:2u>> “X” qbipwquugnud k qudwt
hwjwnny uwhdwujwé ghup
Cunpwéd
dwutiwlyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh wnwowpywéd
qpunbgpué qhu
bink whulinudp Huutiwligh /o g UCE, huiq. npuid/
nGntpp hwdwp ok g » hwq. np
“XY)/
1 <<Luwpqup>> UNLC “X” 4,15

Cunpjwd Jwutwlght npnobint hwdwp Yppwndwd swihwupy' pwjwpwp quuhwnyjws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu guwyht wnwowply ubipjujugpws Jwuuwyhg:
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Quithwpwdhu N: 43
Qudwu wnwplw § hwunhuwund" ywnwpnipuywynp wipwglnn nGunwyGbn :

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 <<"1prl1Jl£:1ér}hp>> “X” gbpwquugnud | qudw
hwyunny uwhdwujwé qhup
<<Lwpqup>> wyn
2 une X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<|:L|l:|f][::pu>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutwlgh /punnywd Uwutwlygh wnwowpyws
qpuntgpwé qht
bink wijuitinudp dwutwlgh /g UCE, hug. npwd/
wnGntpp hwdwp ok g » hwq. np
uxn/
1 <<Luwpgqup>> UNLC “X” 2,500
<<qUu4u>> unpe 3,25
<<EYyndhpu>> UNC 5,83
<<Mpnuynbp>>
umne 6,00

Cunpywd Jwutuwlght npnbint hwdwp Yppwndwsd swihwuhy' pwdwpwp quuhwndws hwynbp

ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu N: 44
Qudwu wnwplw § hwunhuwund” ywnwpnipuywynp wapwglnn nGunwyGbn :

<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwywwmwuluwunn | shwdwwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 <<qu4Ju-> une gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup

Lwjinwpwnyb £ syujwgud
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Quithwpwdhu N: 45

Qudwu wnwplw § hwunhuwund" ywnwpnipuywynp wipwglnn nGunwyGbn :

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwyhtu wnwowpyp
1 <<"1prlijl£:1ér}hp>> “X” gbpwquugnud | qudwt
hwyunny uwhdwujwé qhup
<<Lwpqup>> wyn
2 une X
Quwyhtu wnwowpyp
3 <<qu4Ju-> une “X” qbpwquugnud k qudw
hwjunny uwhdwujwé ghup
Quwyhtu wnwowpyp
4 <<|:L|l:|f][::pu>> “X” qbipwquugnud k qudwt
hwjunny uwhdwujwé ghup
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutwlygh wnwowpyws
qpuntgpwé qht
bk whiutinuip Hutilgh i UCK, huig, npuwd/
wnGntpp hwdwp ok 9 » hwq. np
“x"/
1 <<Luwpgqup>> UNLC “X” 3,00
<<qud4u>> une 4,75
<<Mpnuynbp>>
umne 7,00
<<EYyndhpu>> UNC 7,50

Cunpywd Jwutwlght npnbint hwdwp Yppwndwsd swihwupy' pwdwpwp quuhwndws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubipjujuwgpws Jwutuwyhg:

Quithwpwdhu N: 46

Yudwu wnwplw § hwunhuwund” ywnwpnipuywynp wapwglnn nGunwyGbn :

<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 <<’nnTJd;:]uéqhn>> “X” gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup
Quwjhu wnwowpyp
2 <<Ll:j':r?£un>> “X” gbpwquugnud | qudwt
hwjinny uwhdwujwé ghup
3 <<uJu>> une “X”
Quwyhtu wnwowpyp
4 <<tul;‘,lrj]t::pu>> “X” qbipwquugnud £ qudwt

hwjinny uwhdwujwé ghup
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Cunpjws

dwutwyhg
U wutwlhgut Uwutiw wnwowplwd
w Llhgwél‘h Uwutwlgh /pnunpwd ligh hi gwply
qpml:l gn wtiwtinudp Jwubwbgh | o u<02 hwq. npwd/
nepp hwdwp ok g » hwq. np
“X”/
1 <<UdJdU>> UMne “X” 1,32
<<Lwpgquwp>> UMNe 1,65
<<Eyndhpu>> UNC 2,33
<<Mpnuynbp>>
ume 4,00

Cunpywd Jwutwlght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpYyuywgpwé Jwutwyhgubipph pyYhg' tuqugnyu qguwyht wnwowpl ubipjujwgpws Jwutwyhg:

Quithwpwdhu N: 47

Qudwu wnwplw £ hwunhuwund' glnphpltp :

<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Quwjhu wnwowpyp
1 <<mp?ﬂ::éqbn>> “X” qbipwquugnud k qudwt
hwyjunny uwhdwujwé ghup
<<Lwpqup>> wy»
2 unc X
Quwjhu wnwowpyp
3 <<qu4Ju-> une “X” qbipwquugnud k qudwt
hwjwnny uwhdwujwé ghup
Quwjhu wnwowpyp
4 <<tl|l;l,ﬂ;:2u>> “X” qbipwquugnud k qudwt
hwjwnny uwhdwuyjwé ghup
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpunbtgpws ghu
inbink wliulinuip Huutwligh 1/ o g UCE, huiq. npud/
nspp hwdwp ok g » hwq. np
uxn/
1 <<Lwpqup>> UNC “X” 3,72

Cunpjwsd Jwutwlght npnobint hwdwp Yppwndwsd swihwuhy' pwjwpwp quuhwnyjws hwynbp
ubpYyuywgpwé Jwutwyhgubipph pyYhg' uuqugnyu guwyht wnwowply ubipjujugpws Jwuuwyhg:
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Quithwpwdhu N: 48

Qudwu wnwplw § hwunhuwund' dwubkl :

<pwybph <pwybph
wwhwugubtphtu wwhwugubtphtu
Uwutwlygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid ugk “X”/ nGwpnid ugk “X”/
Quwyhtu wnwowpyp
1 <<“1pr3!;]uér}hp>> “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> -
2 une X
Quwyhtu wnwowpyp
3 <<qudJu->> une “X” gbpwquugnud | qudwt
hwjunny uwhdwujwé ghup
<<kEYyndppu>> -
4 une X
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutwlygh wnwowpyws
qpuntgpwé qht
inbink witiuitinuip Hwubuligh |/ itig UGS, huig. npuis/
ntupp hwdwp ok 9 » hwq. np
“x"/
1 <<bLwpquwp>> UMNe “X” 0,82
2 <<EYyndhpu>> UNC 1,20
<<Mpnjuynbip>>
umne 2,00
<<qU4u->> une 2,33

Cunpywd Jwutwlght npnbint hwdwp Yppwndwsd swihwupy' pwdwpwp quuhwndws hwynbp
ubpyuywgpwé Jwutwyhgubph pyhg' ujuqugnyu quwiht wnwowpy ubpyuwywgpws Jwuuwyhg:

Quithwpwdhu N: 49

Yudwu wnwplw £ hwunhuwund' ng yuwpnipuwwynp wipwgdw nunwjubp :

<pwybiph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wujwunwdip
hwyinbp hwyinbp hwdwnnun ujwpwqpnyenttu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 <<"lnr;1l£:]uér}bn>> “X” gbpwquugnud | qudwt
hwjwnny uwhdwujwé ghup
<<Lwpqup>> -
2 unc X
Quwjhu wnwowpyp
3 <<qUd4u>> umne “X” qbpwquugnid k gudw
hwjwnny uwhdwujwé ghup
<<ktYyndppu>> -
4 une X
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Cunpjws

dwutwyhg
Uwutwlyhgubph Uwutiwygh /punnywd Vwutwlygh wnwowpyws
qpunbgpué qhu
inbink wliulinudp Huublioh g USE, hug. npud/
nspp hwdwp ok g » hwq. np
“X”/
1 <<Lwpqup>> UNLC “X” 0,75
2 <<Eyndhpu>> UNC 1,25
<<qud4u>> une 2,00
<<Mpnjuwynbkp>>
umne 5,00

Cunpywd Jwutwlght npngbint hwdwp Yhpwndwsd swihwuhy' pwjupwp quwhwndwé hwynbip
ubpYyuywgpwé Jwutwlyhgubipph pyYhg' uuqugnyu qguwyht wnwowply ubpjuyjwgpws Jwuuwyhg:

Quithwpwdhu N: 50

Yudwu wnwplw b hwunhuwund' ng yupnipuwwynp wipwgdw nunwjubp :

<pwybph <pwybiph
wwhwugubtphu wwhwugubkphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
Quwyhtu wnwowpyp
1 <<r""':j‘!1']“é"""» “x” qbpwqugnud £ qudwl
hwjwnny uwhdwujwé ghup
Lwjinwpwnyb k£ sywjwgud
Quithwpwdhu N: 51
Yudwu wnwplw £ hwunhuwund' ng yuwpnipuwwynp wipwgdw nunwjubp :
<pwybph <pwybiph
wwhwugubtphu wwhwugubkphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
Quwjhu wnwowpyp
1 <<'"'"l'1‘£;"é"b"» “x” qbpwquugnud £ qudwh
hwjwnny uwhdwujwé ghup
Lwjnwpwnyb k£ sywjwgud

“Qunwdubiph Jwuht” << opbuph 10-pn hnnwdh hwdwdwiu' wugnpdnipjwu dwdlybn £ uwhdwuynid
unyu hwjnwpwpniintup hpwwwpwyybiine opdwu hweonpnnn opnywuhg dhusl 5-pn opwgniguwjht opp ubipwnjwy

puyws dwdwuwlwhwuinydwép:

Unyu hwjinwpwpnipjwt hbn Yuwywd [pugnighs mbnbyniginiuutp unwuwnt hwdwp Yupnn Gp nhdb
<UMNK qU a<UNAP-18/3 dwolwagpny guwhwinnn hwuduwdnnnyh pwpunninup Uwdyb @npnujwupt:
<bnwlunu' 094 844 716:

ElGynunpwuwihtu thnun' gnumner@polytechgyumri.am

Muwundhpwwnnt' «Cwywunwuh wqquihtu ynihnbjuupjuywyu hwiwuwpwu» hhduwnpwd
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